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EXAMPLE 4 agonalize the following matrix, if possible. % >,
2 & A + ;b> '
4=|-4 —6 -3 A

3 3
e, Ed N's .
— 2 x b + o B e\ M,
dox (kA1) = dex —: -6 : (2-)) C’S ot 2‘,;\+? Nt >~)
3 3 [ =& 2 3
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clc

P=[11;1-1]

% first example

%D=[10;0-1]

% part 2

%D=[10;0-1/2]

% part 3

D=[20;03/2]

A=P*D*inv(P)

x0=[4;5];

s=10

format bank

for k=0:s
% convert current index to string and

create xk and coordk strings
index=string(k);
s=strcat('x',index,'=");
c=strcat('[x',index,']_B=");
% compute xk value

[ xk=AAK™XO;
/) {/ {) + CZ{A ( coordk=inv(P)*xk;
% display each xk=A"k*x0

disp(s)
disp(x

(xK)
disp(c)
disp(coordk)

end
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